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Cf,,-Cf,i  =  0  ; ifl;i#n
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F = c f,, + c f,, - c f,, - c f,,
iENc iENc iENc iENc
- - - -

jENc jENc jENc jENc

l&J F = [C f,, - c f,,l  + [C f,, - c fJ
iENc iENc iENc iENc

jE% jEE jE% jEGc

(3.1)

(3.2)

OR 414 5 7 .
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m

r1.41

(fl)lJ?ul~nlualw  = 3

w,41

(u)lJ%Jlulffltl~lu = 2

(9) ¶.l%Jlarnlu~lu =4

PA41

(o)ll%Jlfwmu~lu  = 5 (~)lh.llQli=IlU-J1U  = 6



OR 414 69
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1 fhnud1tl  1 ShJ [Go,-]

2 fhHURfllU 2 &J [+5,1]

3 fhMUdhJ 4 #XJ [+3,2]

4 f!lWdhJ 6 &iatJ  [+3,4]

%h&a&J  & l-2-4-6 Ils”YarlualU~clPia=l~U~~~~  3  t&Xl  LdU  f,, = 3, fz4  =  3

mt  fd6  =  3

&
cc;

ii7e’iula

1 fhMUR~lU  1 &au  [00,-l

2 fhWU~Q1lU 2 hJ [+2,1]

3 fhwudhJ 5 &J [+1,.2]

4 fhWUdhJ  6 ‘hiau  [+1,5]

%!tWh&l  &I  1 - 2 - 5 - 6  ~~~nltl~lU~al~ata~Ul~oU  1 Mri%l  dU f,, = 4 ,  fis  = 1

ml: fS6  = 1

OR 414 75



&
u

fh!shm

1 fhnUR\(jlU 1 #?U [co,-]

2 dlnu~dlu 2 fhu [+l,l]

3 fhnw~dm 3 !JbJ C-1,2]

4 fiinwdh~ 5 #au [+1,3]

5 fhWUR(1lU 6 di?U [+1,5]

%d&.J  &I l-2-3-5-6 1]53XdXJ&Jdau  (t,Z),  (3,2),  (3,5) LAB:  ($6)  l.bJfllU

mGbkl~ldu,~ou  1 nb 6bl.l f,, = 5, fy2  = 1 (nanlfJalullo~l~u13tlu  (3,2) mizRinu~

~lulun’nuar~uo;ltt,~au~u”~~),  f3J  = 1 LlflL  f38  = 2

1

2

3

4

?iiwi4l~U  !%I l-3-5-6

Lint  f56  =  6

3.fnl.h

ttltBum

f!inudli21  1 hi [co,-]

fhnudliu  3 d;?s  [+6,1]

fhnudia  5 #XI [+4,3]

Ainudi8 6 #??J  [+4,5]

~s'Yniuaiu~uda=r~u~~~~ 4 nrim 6du fi3 = 4, fg5 = 5

fhnudhu  1 #NJ [co,-]

Rinwdlm  3 F;?u  [+2,1]

fhnU&u  2 rta;?u  [+1,3]

fhnu&ulhh  4 m 5 by%

~B~=+JU~~ (Nc,Nc)  IdO  NC = { 1,2,3)

NC=  {4,5}

t+JUV%  (Nc,Nc)  = ((2,4), (2,5), (3,5))

=3+ i+5  = 9 nher

76 OR 414
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OR 414 79



6

$!E!¶l  mJmqqFI  = 31 HdxJ ih%Y+hr[@  = {(1,2),  (1,3),  (1,4)}

4 . 2

t

BEUl  iWJ~1I.l~~~~  = 8 W.h TiX&lil~R  = [(1,2),  (1,5),  (3,4)}

4 . 3 7

80 OR 414
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$!lELU  WJ~lU~~~Fl = 22 wlh  ihlPki~lr(F~  = {(4,2),  (4,3),  ($3))



40
/

7

v\

OR 414 81



VEW i=kJU~fWh~~  = ((2,4), (4,5), (5,7), (6,7)}

flaiup  = 7 ntiau

82 OR 414





rnw d%~ianiu41ugsqa =31ndatl

aiaw6BilqRba { (2,4),  (3,4),  (3,s))

OR 414


